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1	Introduction
During RAN4#104bis-e, a WF for BS requirements was approved that resolved most issues. In this contribution, we outline views on some remaining issues.
[bookmark: _Ref178064866]2	Discussion
For the BS class description, a description text was tentatively agreed as follows:
· ATG Base Stations are characterized by requirements derived from ATG scenarios with a ground BS to air UE with typical vertical altitude range [TBD km]

Regarding the range of altitudes, in our view the TS description should capture all of the range of altitudes over which ATG could operate, including both the typical cruising altitudes and lower altitudes usually for take-off/landing. As outlined in previous contributions, in-flight WiFi is operated from 10,000 ft (3000m) upwards.
If co-existence simulations reveal that requirements are tough for 3000m then a different upper limit could be specified; however, assuming that the ACLR/ACS for 3000m are achievable or the same as other altitudes, the specification should state the range to be 3000m – 12000m (or agreed upper altitude).
The existing wording is OK in our view, but if other companies prefer to differentiate the take-off and cruising altitudes then the wording could be updated similar to:
· ATG Base Stations are characterized by requirements derived from ATG scenarios with a ground BS to air UE with typical vertical altitude range [TBD km] and take-off/landing altitudes down to [TBD] km

The decision on the TS text can be taken once the co-existence simulations are complete.

Regarding the RX IM requirement, it is unlikely that there is a scenario in which the ATG BS is subject to intermodulation interferers with the levels in the RX IM requirement. However, our understanding is that the RX IM requirement dimensions some aspects of receiver design, since it creates IM products that are designed to fall specifically into the receive band. If the RM IM requirement is skipped, then the minimum radio receiver performance for an ATG BS may not be as good as for a TN BS.  Thus, in our view it is pragmatic to keep the RX IM requirement.
